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



1. Enlist the instruments used for height measure-

ment of trees. Describe in detail about two in-

struments used for height measurements in trees.





2. Describe the methods of age determination of

standing trees.

      


3. Describe the objectives of tree volume measure-

ment. Discuss the methods for determination of

volume of standing trees.




(Section B)  


(Short-Answer-Type Questions)

Note - Section 'B' contains Six (06) short-answer-type

questions of Five (05) marks each. Learners are required

to answer any Four (04) questions only.

(4 x 5 = 20)





1. Explain the relationship between tree diameter

and  girth.



2. Differentiate between the following with ex-

amples :



(i) C. A. I. and M. A. I.


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
Bachelor of Science
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Third Year, EXAMINATION-2019

Time : 3 Hours                     Max. Marks :  40
______________________________________

Note - This Paper is of Forty (40) marks divided into

two (02) Sections A and B. Attempt the questions con-

tained in these sections according to the detailed in-

structions given therein.


          


(Section A)  
(Long-Answer-Type Questions)


Note - Section 'A' contains Three (03) long-answer-

type questions of Ten (10) marks each. Learners are

required to answer any Two (02) questions only.

(2 x 10 = 20)

(ii) Mode and Median



3. Differentiate between the following with ex-
amples :

(i) Normal Form Quotient and Absolute
Form Quotient



(ii) Stem analysis and stump analysis



4. Describe various types of sampling methods
used in Forestry.




5. Tree height is considered as an index of site
quality. Why ?



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6. Write short notes of the following :



(i) Increment boring



(ii) Pressler's formula for volume increment
percent.


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